Independent Task

Using the mountain names
and helghts, answer the
following questions.

A A | O | A

Mont Blanc Mulhacén Mount Elbrus | Grossglockner
(France, Italy) (Spain) (Russia) (Austria)

4810m | 3479 m | 5642m | 3798 m

A | A | | A

Zugspitze Shkhara Coma Monte Rosa
(Germany) (Georgiq) Pedrosa (Switzerland)

2962m | 5201l m | 2943 m | 4634 m

1.) Mont Blanc is taller than Mulhacen.
True/ False O

2.) Mount Elbrus is taller than Shkhara.
True/ False O

3.) Grossglockner is shorter than Zugspitze.
True/ False @,

4.) Shkhara is taller than Coma Pedrosa.
True/ False O

5.) Zugspitze is shorter than Grossglockner.
True/ False O

6.) Mont Blanc is taller than Mulhacen which
Is taller than Coma Pedrosa

True/ False

O O

| &



